@ Oﬁ %j @ SRS I 10,100,1000 J T[0T X
T4

- fedip: _ wR_
10.363 x 100 = 6.235 x 10 =
10.305 x 1000 = 1.077 x 10 =
10.105 x 10 = 7911 x 100 =
2.856 x 1000 = 4257 x 10 =
9.635 x 100 = 8.826 x 1000 =
7.206 x 10 = 8.348 x 10 =
6.222 x 1000 = 27 x10=
10.022 x 10 = 4.162 x 100 =
3.267 x 10 = 3.737 x 10 =
9.072 x 1000 = 2.582 x 1000 =
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@ ?j @ SRMAd BI 10,100,1000 F T[0T DR

i fgdi. @R
10.363 x 100 = 1036.3 6.235 x 10 = 62.35
10.305 x 1000 = 10305 1.077 x 10 = 10.77
10.105 x 10 = 101.05 7911 x 100 ="791.1
2.856 x 1000 = 2856 4.257 x 10 = 42.57
9.635 x 100 = 963.5 8.826 x 1000 = 8826
7.206 x 10 = 72.06 8.348 x 10 = 83.48
6.222 x 1000 = 6222 2.7 x10 =27
10.022 x 10 = 100.22 4.162 x 100 = 416.2
3.267 x 10 = 32.67 3.737 x 10 = 37.37
9.072 x 1000 = 9072 2.582 x 1000 = 2582
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